

			Contract ID	Estimate Number	Pay Period Star	rt Pay Period End	Date Gener	ated Estimate ly	pe	District	Org. Code		
			180921-A02	0003	May 16, 2019	June 1, 2019	June 3, 20	19 PROG		NW	ACA		
Contractor		Vendor ID	Addı	ress	City	State	ZIP	Те	lephone		FAX		
	Herzog Contracting Cor	o.	0010179	P.O. Box 1089	5	St. Joseph	MO	64502	(81-6)2-3	3-9		(81-6)2-33-9	

Job Number	Federal/State Project Number	Description of work	Route Number	County	Location of work
J1P3010	FAF 148-1(9)	Resurface and add shoulders	148	NODAWAY	from Iowa State line to US 71 near Maryville

Critical Date	Actual Date	Key Date	Subject	Date Contractor Assumed Maintenance	Disturbed Area on Project	Authorized Area on Project	
Open to Traffic Date	0				0	0	Acres
Price Adjustments Base Date	0						
Physical Work Complete Date	0						
Substantial Work Complete Date	0						
Contract Items Complete Date	0						
Final Acceptance Date	0						
Letting Date	20180921						
Award Date	20181003						
Execution Date	20181003						
Notice to Proceed Date	20181203						
Work Begin Date	20190429						
Adjusted Completion Date	20191101						
Original Completion Date	20191101						

Totals by Job Number				
J1P3010		To Date	Previous	This estimate
	Participating	\$1,504,467.05	\$776,235.93	\$728,231.12
	Non-	\$0.00	\$0.00	\$0.00
	Participating	ψ0.00	ψ0.00	ψ0.00
	Total	\$1,504,467.05	\$776,235.93	\$728,231.12
	Earnings	Ψ1,001,101.00	Ψ110,200.00	Ψ120,201.12
	Stockpiled	\$49,197.60	\$49,197.60	\$0.00
	Materials	Ψ10,107.00	Ψ10,107.00	ψ0.00
	Gross	\$1,553,664.65	\$825,433.53	\$728,231.12
	Earnings	Ψ1,000,001.00	φο20, 100.00	ψ120,201.12
	Other	\$0.00	\$0.00	\$0.00
	Adjustments	·		
	Retainage	\$0.00	\$0.00	\$0.00



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
180921-A02	0003	May 16, 2019	June 1, 2019	June 3, 2019	PROG	NW	ACA

				,,	.,,					
Totals by Job Number										
	Incentive Disincentive		\$0.00 \$0.00			\$0.00 \$0.00				\$0.00 \$0.00
	Liquidated Damages		\$0.00			\$0.00				\$0.00
	Overrun Adjustments	(\$^	,053.17)	(\$1,003.17)						(\$50.00)
	Total:	\$1,55	2,611.48			4,430.36 Payable:				\$728,181.12

Total Contract				
180921-A02		To Date	Previous	This Estimate
	Line Item Pay	\$1,504,467.05	\$776,235.93	\$728,231.12
	All Adjustments	\$48,144.43	\$48,194.43	(\$50.00)
	Total	\$1,552,611.48	\$824,430.36	\$728,181.12

If the "This Estimate" total is greater then \$100.00, this is a Pay estimate. If the "This Estimate" total is equal to \$0.00, this is a No Pay estimate. If the "This Estimate" total is between \$100.00 and \$0.00, this is a Minimum estimate and no payment will be made. This estimate will be rejected. If the "This Estimate" total is less than \$0.00, this is a Negative estimate and no payment will be made. This estimate will be rejected. You will be notified should this estimate be rejected for reasons other than those listed above.

Approval Date		User ID
20190603	Generated and Approved (and should be considered Draft) at the Project Office Level by	stricj1
20190604	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	jacobl
20190604	Reviewed and Approved at the Central Office Controllers Office Level by	greggd1

Original Contract Amount	Net Change Order Amount to Date	Current Contract Amount	% of current contract amount complete
\$2,301,371.78	\$0.00	\$2,301,371.78	65.4%

Contract Adjustments:

Line Iter	n Adjustı	ments:				
Project Number	Line Number		Adjustment Type	Line Item Adjustment Amount	Remarks	
J1P3010	0120	SYSTEM	Overrun	(\$50.00)	Overrun adjustment created for the following discrepancy: Est Nbr: 0003 Type: El Seq No: 1 Desc: Minor Item J1P3010 exceeds Overrun Limits. This adjustment applies to DWR Date 05/21/2019.	/0120
J1P3010			(\$50.00)			



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
180921-A02	0003	May 16, 2019	June 1, 2019	June 3, 2019	PROG	NW	ACA

Line	ltem	Adj	ust	tment	ts:
------	------	-----	-----	-------	-----

Summary (\$50.00)

Discrepancies:

Discrep	ancy Message	Resolved By User ID	Remarks
Minor Item J1P3010 Limits.	/0120 exceeds Overrun	SYSTEM	This discrepancy has been automatically addressed by line item adjustment: Est Nbr: 0003 Prj Nbr: J1P3010 Line Item Nbr: 0120 Adjust Type: OVRN Adjust Seq Nbr: 1
Line Item # J1P3010 matl discrepancy	/0040 has a deficient tested	stricj1	Due to amount of placed material, materials has not completed all necessary testing.
Minor Item J1P3010 Limits.	/0200 exceeds Overrun	SYSTEM	This discrepancy has been automatically addressed by material discrepancy payment adjustments or prior overrun discrepancy payment adjustments
Minor Item J1P3010 Limits.	/0230 exceeds Overrun	SYSTEM	This discrepancy has been automatically addressed by material discrepancy payment adjustments or prior overrun discrepancy payment adjustments

All Items, This Estimate:

Project Number	Line Item Number	Item Code	Description	Unit Price	Previous Total Paid Quantity	Quantity this Period	Quantity to Date	Amount this Estimate
J1P3010	0040	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	\$61.65	5373.92	11108.07	16,481.99	\$684812.52
	0060	4071005	TACK COAT	\$2.20	2110.00	8213.00	10,323.00	\$18068.60
	0120	6161009	FLAG ASSEMBLY	\$25.00	0.00	14.00	14.00	\$350.00
	0170	6181000	MOBILIZATION	\$100000.00	0.75	0.25	1.00	\$25000.00
	0200	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	\$8.59	2868.80	0.00	2,868.80	\$0.00
	0230	8061005	ROCK DITCH CHECK	\$18.60	692.00	0.00	692.00	\$0.00
			J1P3010					\$728231.12
			Summar	-y				\$728231.12

Estimate Item Detail. All Items to Date:

Lottillato	itoiii Dota	, ,	iio to Bato	•				
Project Number	Category #	Line Number	Item Code	Description	Current Bid + CO	Current Installed to Date	Unit Price	Amount Paid to Date
J1P3010	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	\$5220.00	\$0.00
J1P3010	0001	0020	2129900	MISC. SHOULDER GRADING	491.00	0.00	\$46.03	\$0.00
J1P3010	0001	0030	3049910	MISC. PERMANENT AGGREGATE EDGE TREATMENT	3,856.90	0.00	\$35.00	\$0.00
J1P3010	0001	0040	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	23,334.20	16481.99	\$61.65	\$1,016,114.68



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
180921-A02	0003	May 16, 2019	June 1, 2019	June 3, 2019	PROG	NW	ACA

Estimate	Item Deta	il, All Itei	ms to Date	:				
Project Number	Category #	Line Number	Item Code	Description	Current Bid + CO	Current Installed to Date	Unit Price	Amount Paid to Date
J1P3010	0001	0050	4013010	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE WIDENING)	4,366.60	4349.72	\$65.55	\$285,124.15
J1P3010	0001	0060	4071005	TACK COAT	20,500.00	10323.00	\$2.20	\$22,710.60
J1P3010	0001	0070	4134000	BITUMINOUS FOG SEAL	3,746.00	0.00	\$2.20	\$0.00
J1P3010	0001	0080	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	\$100.00	\$0.00
J1P3010	0001	0090	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTI AL DEPTH PAVEMENT REPAIR	241.00	173.89	\$115.11	\$20,016.48
J1P3010	0001	0100	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	1,495.00	1032.00	\$4.75	\$4,902.00
J1P3010	0001	0110	6161005	CONSTRUCTION SIGNS	1,570.00	672.00	\$6.00	\$4,032.00
J1P3010	0001	0120	6161009	FLAG ASSEMBLY	12.00	14.00	\$25.00	\$350.00
J1P3010	0001	0130	6161025	CHANNELIZER (TRIM LINE)	16.00	15.00	\$20.00	\$300.00
J1P3010	0001	0140	6161040	FLASHING ARROW PANEL	2.00	0.00	\$100.00	\$0.00
J1P3010	0001	0150	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CON TRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	2.00	\$3600.00	\$7,200.00
J1P3010	0001	0160	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	4.00	\$1500.00	\$6,000.00
J1P3010	0001	0170	6181000	MOBILIZATION	1.00	1.00	\$100000.00	\$100,000.00
J1P3010	0001	0180	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, T YPE L BEADS	94,690.00	0.00	\$0.16	\$0.00
J1P3010	0001	0190	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	151,504.00	0.00	\$0.16	\$0.00
J1P3010	0001	0200	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,778.00	2868.80	\$8.59	\$24,642.99
J1P3010	0001	0210	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,495.20	0.00	\$18.44	\$0.00
J1P3010	0001	0220	6269903	MISC. TRANSVERSE RUMBLE	48.00	0.00	\$120.36	\$0.00
J1P3010	0001	0230	8061005	ROCK DITCH CHECK	680.00	692.00	\$18.60	\$12,871.20
J1P3010	0001	0240	8061016	SEDIMENT REMOVAL	92.00	0.00	\$25.00	\$0.00
J1P3010	0001	0250	8061019	SILT FENCE	2,440.00	73.00	\$2.78	\$202.94
J1P3010	0010	0260	6061060	MGS GUARDRAIL	675.00	0.00	\$26.10	\$0.00
J1P3010	0010	0270	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	12.00	0.00	\$2750.00	\$0.00
J1P3010	0010	0280	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	12.00	0.00	\$2750.00	\$0.00



Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	Dis	rict	Org.
180921-A02	0003	May 16, 2019	June 1, 2019	June 3, 2019	PROG	N/	V	AC

oject mber	Line	Item	Item Description	Date	User ID	Description/ Information	Quantity	Units	From	+		Offset	Distance	То	+		Offset	Distance	From LM	To LN
3010	0040	4011211	BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	20190520	stricj1	Mainline	1625.330	TONS	140	+	25		0	262	+	0		0	0	0
			BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	20190522	stricj1	Mainline	1854.500	TONS	261	+	97		0	384	+	1		0	0	0
			BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	20190523	stricj1	Mainline	1719.470	TONS	140	+	98		0	263	+	95		0	0	0
			BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	20190530	stricj1	NB Mainline	1963.450	TONS	268	+	95		0	393	+	53		0	0	0
			BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	20190531	stricj1	SB mainline	2193.170	TONS	384	+	1		0	491	+	68		0	0	0
			BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	20190601	stricj1	NB mailine	1752.150	TONS	393	+	53		0	493	+	98		0	0	0
	0060	4071005	TACK COAT	20190520	stricj1	Mainline Tack	1229	GAL	140	+	25		0	262	+	0		0	0	0
			TACK COAT	20190522	stricj1	Mainline Tack	1385	GAL	261	+	97		0	384	+	1		0	0	0
			TACK COAT	20190523	stricj1	Mainline Tack	1483	GAL	140	+	98		0	263	+	95		0	0	0
			TACK COAT	20190530	stricj1	NB mainline	1561	GAL	268	+	95		0	393	+	53		0	0	0
			TACK COAT	20190531	stricj1	MainlineSB	1385	GAL	384	+	1		0	491	+	68		0	0	0
			TACK COAT	20190601	stricj1	NB mainline	1170	GAL	393	+	53		0	493	+	98		0	0	0
	0120	6161009	FLAG ASSEMBLY	20190521	anderl1	See Remarks	14	EA		+	0		0		+	0		0	0.048	14.39
			Remarks																	
			4 mainline work zones are Contractor installed Flag As In turn payment of 14 Flag A	semblies on	all State r	outes that tie in with 148	. JJ, 246, NI	N, B, OO	, and C0	C ar	e the	e tie in Ro		n. and	derl*	1				
	0170	6181000	MOBILIZATION	20190601	stricj1	Mobilization paid for 64.286 percent	0.250	LS		+	0		0		+	0		0	0.048	14.39
			Remarks																	
			6428631231412771 percer																	



	Contract ID	Estimate Number	Pay Period Start	Pay Period End	Date Generated	Estimate Type	District	Org. Code
	180921-A02	0003	May 16, 2019	June 1, 2019	June 3, 2019	PROG	NW	ACA

Remarks in the following table are for documentation purposes:

Date User ID Remarks Text Field